Assignment I 
To be handed in July 3rd 2009 after class

Answer the following questions in end-of-chapter problems in Nicholson ‘Microeconomic Theory: Basic Principles and Extensions’ 10th edition:

3.4, 4.4, 4.6, 9.4, 10.4, 10.6 
Also answer the following 

1) Let there be a firm with production function 
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 where q is the firm’s output, k is the amount of capital and l is the amount of labour (measured in hour)

i) Explain the concept of Marginal Rate of Technical Substitution (RTS) and calculate the RTS of this firm when k = 9 and l = 12. (4 marks)

ii) Explain the concept of Returns to Scale and use it to discuss this firm’s technology. Then draw isoquant maps for this firm taking into account the nature of the returns to scale of the firm. (4 marks)

iii) Assume that the firm can sell its output q at price p = $6 per unit. Capital costs $3 per unit and labour costs $1 per hour. What will be the firm’s level of k and l if it aims to maximize profit? (7 marks)

2) Answer the following subquestions

i) Draw indifference curve maps of the following individuals where x and y are consumption goods 

-
Individual A has utility function 
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Individual B has utility function 
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Individual C has utility function 
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where subscripts denote individuals’ names

ii) Suppose all of the individuals above have income $100, price of good x is px and price of good y is py. Find the indirect utility function of each individual above.

iii) If is px = 1 and py = 2, find the amount of x and y that each individual will consume. 

3) An individual wishes to maximize his utility U(c, h) 

subject to two constraints: l +h = 365 and c = wl
where c is consumption of goods and h is the number leisure days and l is the number of working days

i) Show by solving the maximization problem, how an individual can maximize his/her utility. In addition, sketch your result on a diagram

ii) If the wage rate increases from w to w′, show on a diagram, what would be the change in h 
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